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Questions

Acid rain due to pollution result in

When sea arch dictached from land by erosion is called.

Continous erosion is sea result in creating an opening called.

Cavities transforminto ........ by erosion.

Distance from crest to crest is called.

The lower part of the wave is called.

Swiring action of the stones develops holes in river bed called holes.

In mountain, valley of the river gettes decper an attain the shape of the.

Rivers carries the brockes material and cut other rucks by the process of erosion.

When the soft rock are erouded somepletely by wind , the bard rocks remain behidn are
called.

Answers Choice
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. Physical wealthring

Chemical wealthering

. Biological wealthering

None of these
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Abrasion
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None of these



